Android E{E] A {2 25

MAF RN S 1 R IR AF

_mERSEERIETIZ
10.1 ¥ Android SR HMI #{F=5«



PEBAER P

RS232-2

¥
F

g — —




DI #afFEE

private void Getlnpunt3tatunz()
i

if((RzByteData[0] & 0x01) — 0x01) DID = true; else DI0O = false;
if({(RzByteData[0] == 1) & 0x01) = 0x01) DIl = true; else DIl = false;
if({(RzByteData[(0] == 2) & 0x01) = 0x01) DIZ2 = true; else DI2 = false;
if(((RzByteData[(0] == 3) & 0x01) = 0x01) DI3 = true; else DI3 = false;
if({(RxByteData[0] == 4) & 0x01) = 0x01) DI4 = true; else DI4 = false;
if(((RxByteData[0] == 5) & 0x01) = 0x01) DIS = true; else DIS = false;
if(((RxByteData[0] == 6) & 0x01) = 0x01) DI6 = true; else DI6 = false;
if({(RzByteData[(0] == 7) & 0x01) = 0x01) DI7 = true; else DI7 = false;
if((RzByteData[ 1] & 0x01) — 0x01) DI8 = true; else DIS = false;
if({((RxByteData[ 1] == 1) & 0x01) = 0x01) DI9 = true; else DI9 = false;
if({(RxByteData[ 1] == 2) & 0x01) = 0x01) DI1O = true; else DILD = false;
if(((RxByteData[ 1] == 3) & 0x01) = 0x01) DI11l = true; else DIL1 = false;
if(((RxByteData[ 1] == 4) & 0x01) = 0x01) DI12 = true; else DI12 = false;
if({(RxByteData[ 1] == 5) & Ox01) = 0x01) DI13 = true; else DI13 = false;
if({(RzByteData[ 1] == 6) & 0x01) — 0x01) DI14 = true; else DI14 = false;
if({(RzxByteData[ 1] == 7) & 0x01) — 0x01) DI15 = true; else DI1S = false;

public boolean DIO, DIl, DI2, DI3, DI4, DI5, DI6, DI7,DI8, DI9, DI1O, DI1l, DILZ, DI13, DIl4, DILS;

@iverride
public void UartDataint i, char[] charg) {
int i, crc_data, cro_check;

Helient.zend UartByte(l, chars, charslength);
for(j=0;j< charz.length; j++)
RxBywyteData[j] = char=s[j];

crc_data = uartTools.GenerateCRC(RxByteData, 2);
crc_check = nartTools.Get2BytegData(4, RxByteData, false);
if{ cro_data = crc_check )
{
switch(RzByteData[0])
{
case 100 :/YInput Status

break;
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int cmd, lenegth, croc wvalue:
char[ ] T=xEvteData—mew char[11]:
cmd = 16;

TxEwxteDatal[0] = (char){ountpunt & Ox000000FF ) ;

TxEwteDatal 1] (charl)((ontput == S & Ox000C000FF ) ;
TrEwteDatal 2] (chari{{ontpunt == 163 & Ox000000FF 7 ;
TrEwteDatal 3] = (charli{{ontpunt == 247 & OQO=x000000FF7;

TuEwteDatal 4]
TrEvteDatal 5]
TxEvwteDatal & ]
TxEBEvteDatal 7] =
leneth = &;

I
oooo

EegigterZendingCommand{cmd, T=xBEwvwteData, lenzth);




Servo Motor FHJI|FZ

{

woid SendGolCommand(dmt id,. dmt posmition

imt —md . lenseth., —oro <wam lue;
char|[ ] TxEvtelData—=—mew <char[ 11]:;:
—md = 11 ;:
switch { id]
1

case [ -3 Sasdis

TrxEBwtelDatal O] = ;
break
case 1 -0 Acdis

TxEBvwtelDatal O] = 1:
break ;

¥

TxEB~xteDatal 1] = 0;

TrxEwtelDatal 2] = 0O;

TrxEvwtelDatal 2] = 0O;

TrxEvwteDatal 4 ]
TxEsxteDatal 5]
TrxEvwtelDatal & ]
TxBwteDatal ¥ ]
lenszth = =;

(fchar)l)({po=szition ==
fcharld({position == 2473 & OQOx000000FF ) ;

Crcharliposition & O=x0OO0O0000FF ) ;
Ccharl{(posgition == 57 & OQx000000FF 7 ;

1573 & OxO0O0000FF 7 ;

RegiaterSendingCommand(cmd, TxE~xteData, lensth;




